

Wednesday, May 5, 2021

NOTICE: Public attendance at public meetings is restricted due to COVID-19 concerns. To access and participate in meetings remotely, please call 641-939-8108 for meeting information.

- 1. 9:00 A.M. Call To Order Courthouse Large Conference Room
- 2. Pledge Of Allegiance
- 3. Approval Of Agenda
- 4. Emergency Management Update
- 5. Public Health Update
- 6. Utility Permits & Secondary Roads Department
- 7. Public Comments
- 8. Award Contract For Project L-C042(9040)-73-42 X Avenue Over Pine Creek

Documents:

L-C042(9040)--73-42 CONTRACT.PDF

- Motion To Authorize Board Chair To Execute Pleadings And Forms Related To Existing Litigation That Are Consistent With The Iowa Rules Of Court And Deemed Necessary And Proper By The Hardin County Attorney To Comply With Those Rules
- 10. Change Time And Date Of FY 2020/2021 Budget Amendment Hearing
- 11. Auditor's Monthly Report

Documents:

AUDITORS MONTHLY REPORT.PDF

12. Sheriff's Monthly Report

Documents:

SHERIFFS MONTHLY REPORT.PDF

- 13. Change Of Status Sheriff's Office
- 14. Other Business
- 15. Adjournment/Recess
- 16. 9:30 A.M. Drainage

Courthouse Large Conference Room

CONTRACT

HARDIN County -- RCB Culvert Replacement - Twin Box

Project Number: L-C042(9040)--73-42

THIS AGREEMENT made and entered by and between HARDIN County, Iowa, by its Board of Supervisors consisting of: BJ Hoffman (Chairperson), Lance Granzow, and Renee McClellan, Contracting Authority, and WEIDEMANN INC. of, DOWS, IA 50071-0000, Contractor.

WITNESSETH: That the contractor, for and in consideration of Three Hundred Thirteen Thousand Eight Hundred Forty Two Dollars and Sixty One Cents (\$313,842.61) payable as set forth in the specifications constituting a part of this contract, hereby agrees to construct in accordance with the plans and specification therefore, and in the locations designated in the notice to bidders, the various items of work as listed in the quantity and unit price tabulation

Said specifications and plans are hereby made a part of and the basis of this agreement, and a true copy of said plans and specifications are now on file in the office of the County Engineer under the date of 4/28/2021

That in consideration of the foregoing, the Contracting Authority hereby agrees to pay the Contractor, promptly and according to the requirements of the specifications the amounts set forth, subject to the conditions as set forth in the specifications

That it is mutually understood and agreed by the parties hereto that the notice to bidders, the proposal, the specifications for Project No. L-C042(9040)--73-42 in HARDIN County, Iowa, the within contract, the contractor's bond and the general and detailed plans are and constitute the basis of the contract between the parties hereto.

That it is further understood and agreed by the parties of this contract that the above work shall be commenced and completed on or before:

Work Days	Date Type	Date	Liquidated Damages Per Day
N/A	Completion Date	10/15/2021	\$1,000.00

That time is the essence of this contract and that said contract contains all of the terms and conditions agreed upon the parties hereto.

It is further understood that the Contractor consents to the jurisdiction of the courts of Iowa to hear, determine and render judgment as to any controversy arising hereunder.

IN WITNESS WHEREOF the parties hereto have set their hands for the purposes herein expressed to this and three other instruments of like tenor, as of the _____ Day of _____, 2021

HARDIN County Iowa, Contracting Authority

Chairperson, County Board of Supervisors

Date

WEIDEMANN INC., Contractor

Signature

Federal ID

SCHEDULE OF PRICES -- CONTRACT

HARDIN County, Iowa -- Project L-C042(9040)--73-42

Type of work : RCB Culvert Replacement - Twin Box

	Item Number	Description	Units	Quantity	Unit Price	Total
1.	2102-0425070	SPECIAL BACKFILL	TON	438.9	\$23.85	\$10,467.77
2.	2102-2710070	EXCAVATION, CLASS 10, ROADWAY AND BORROW	CY	2198.9	\$10.00	\$21,989.00
3.	2104-2710020	EXCAVATION, CLASS 10, CHANNEL	CY	82.0	\$3.50	\$287.00
4.	2105-8425015	TOPSOIL, STRIP, SALVAGE AND SPREAD	CY	338.0	\$8.00	\$2,704.00
5.	2312-8260051	GRANULAR SURFACING ON ROAD, CLASS A CRUSHED STONE	TON	784.0	\$24.50	\$19,208.00
6.	2401-6745625	REMOVAL OF EXISTING BRIDGE	LS	1.00	\$13,000.00	\$13,000.00
7.	2402-2720000	EXCAVATION, CLASS 20	CY	563	\$10.00	\$5,630.00
8.	2402-2725005	FOUNDATION TREATMENT MATERIAL	TON	146.000	\$38.55	\$5,628.30
9.	2418-0000010	TEMPORARY STREAM DIVERSION	EACH	1	\$3,500.00	\$3,500.00
10.	2507-3250005	ENGINEERING FABRIC	SY	149.0	\$3.00	\$447.00
11.	2507-6800061	REVETMENT, CLASS E	TON	70.3	\$33.60	\$2,362.08
12.	2528-2518000	SAFETY CLOSURE	EACH	4	\$100.00	\$400.00
13.	2528-8445110	TRAFFIC CONTROL	LS	1.00	\$2,300.00	\$2,300.00
14.	2533-4980005	MOBILIZATION	LS	1.00	\$10,500.00	\$10,500.00
15.	2599-9999005	PRECAST CONCRETE BOX CULVERT STRAIGHT END SECTION, 14 FT x 12 FT	EACH	4	\$25,130.00	\$100,520.00
16.	2599-9999009	PRECAST CONCRETE BOX CULVERT, 14 FT x 12 FT	LF	84.0	\$1,214.65	\$102,030.60
17.	2599-9999014	GRID TIED CONCRETE BLOCK MAT	SF	744	\$8.45	\$6,286.80
18.	2601-2634100	MULCHING	ACRE	0.6	\$2,430.95	\$1,458.57
19.	2601-2636043	SEEDING AND FERTILIZING (RURAL)	ACRE	0.6	\$2,272.23	\$1,363.34
20.	2602-0000020	SILT FENCE	LF	273.0	\$2.55	\$696.15
21.	2602-0000101	MAINTENANCE OF SILT FENCE OR SILT FENCE FOR DITCH CHECK	LF	273.0	\$1.00	\$273.00
22.	2602-0000312	PERIMETER AND SLOPE SEDIMENT CONTROL DEVICE, 12 IN. DIA.	LF	820.0	\$2.55	\$2,091.00
23.	2602-0010010	MOBILIZATIONS, EROSION CONTROL	EACH	2	\$175.00	\$350.00
24.	2602-0010020	MOBILIZATIONS, EMERGENCY EROSION CONTROL	EACH	1	\$350.00	\$350.00
			Ċ	Contract Total		\$313,842.61

STANDARD SPECIFICATIONS OF THE IDOT, SERIES 2015, AND CURRENT SUPPLEMENTAL SPECIFICATIONS SHALL APPLY.

The County, in accordance with Title VI of the Civil Rights Act of 1964, 78 Stat. 252, 42 U.S.C. 2000d to 2000d-4 and Title 49, Code of Federal Regulations, Department of Transportation, Subtitle A, Office of the Secretary, Part 21, Nondiscrimination in Federallyassisted programs of the Department of Transportation issued pursuant to such Act, hereby notifies all bidders that it will affirmatively insure that in any contract entered into pursuant to this advertisement, minority business enterprises will be afforded full opportunity to submit bids in response to this invitation and will not be discriminated against on the grounds of race, color, or national origin in consideration for an award.

County Auditor's Report of Fees Collected

State of IOWA)	SS:
County of)	Hardin County

To the Board of Supervisors of HARDIN COUNTY:

I, Jolene Pieters, Auditor of the above named County and State, do hereby certify that the following is a true and correct statement of the fees collected by me in my office for the period of 4.1.2021 through 4.30.2021 and the same has been paid to the County Treasurer:

4150	Passport fees
4150	i assport lees
4150	Photo fees
+100	1 11010 1003

Total

No. Doc.

17

20

All of which is respectfully submitted.

OXIL

Jølene Pieters Hardin County Auditor

Chairperson, Board of Supervisors

Date

Date

Fees

collected

5.4.2021

\$595.00

\$300.00

\$895.00

HARDIN CO. SHERIFF'S OFFICE

David L. McDaniel 1116 14th Avenue Eldora. Iowa 50627 641-939-8189 1-800-568-4373 Fax 641-939-8249

20-21 Fiscal Year	April fees	
0001-1-05-1000-440003	Civil Fees	\$ 2,552.91
0001-1-05-1000-440004	Civil Mileage	\$ 1,013.97
0001-4-05-9100-847000	Prescriptions/MH	\$
		\$ 3,566.88
20-21 Fiscal Year	April fees	
0001-1-05-1000-250100	Contract Law	\$ 19,263.65
0001-1-05-1000-250200	Care Prisoners	\$ 156,544.83
0001-1-05-9000-440002	Driving Records	\$ 6.50
0001-1-05-1000-440006	Purchase Permits	\$ 150.00
0001-1-05-1000-441000	Weapon Permits	\$ 1,940.00
0001-1-05-1000-443000	Work Release	\$ -
0001-1-05-1000-445000	Sex Offender Reg.	\$ 25.00
0001-1-05-1000-550001	Copy Reports	\$ 30.00
0001-1-05-1000-850100	CO ENF Surcharge	\$ 97.50
0001-1-05-1000-440007	Fingerprint fees	\$ 60.00
0001-4-05-1000-849000	Miscellaneous	\$ -
	Total:	\$ 178,117.48
Funds paid to Treasurer	Total fees FY 20/21	\$ 181,684.36

A New Century of Service